[ Efficiency vs vertpos |

= 0.1
010 ERCRTRR Fereeeeenn R
e 5 : :

2 0.08F oo e e
GO.0TF - meeeriemereneeees beeeeenan e
o : :

s R A e
(00| ERPPPPRRRE PO RN ST e
0.04f---------- fonenes P R
10 <] STTTPRPRRRS SIPPRS PR { T e
030 R O

0.02F------mrmrinmmmemeeeny : “* ------------
9 G + 1 II! 1 1111111
T 12 : A
@

1 [ CRCEEREREEE R
0.8— )
10™ 10 0

TP vertr (cr%)
——— %ME gégi%cl? s
@ — BEMsiep A H-d¢ka 1 %SVTOLDSAMPLE relf
N 0.5
20.45
2]
> 04
>
2
5 0.35
(8]
£ 0.3
©
0.25
0.2
0.15
0.1
0.05
o 0
§ 15
1

TP vert z (cm)

~ 0.02

&
_ o

[

N
IIIIIIIIIIIIIIIIIIIIII

o

o
F o

D
TITLTTT[TTT[ITT[TTT]

:—n—:

0 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


